TRR2TAERE RAEBR

BERIERTR Bk

(1) = M fb Bt 3\ (HAL : ppm)
ST AH 6H17TH| 6HI8H| 6H19H| 6H20H| 6H21H| 6H22H| 6H23H| 12H9H|12H10H| 12H11H| 12H12H| 12H13H| 12H14H| 12H15H o O %
PRSP = E ] i 0.002 0.003 0.001 0.004 0.004 0.003 0.003 0.003 0.002 0.001 0.002 0.001 0.001 0.002
(B B (Wi w)[ Pl 0.001 0.001 0.000 0.002 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
DR A A N 23 0.002 0.002 0.001 0.003 0.003 0.004 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 N
B E) (9K ) [ FHE 0.001 0.001 0.000 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001| 1IFfHIfEDL H SEIE S
D A NN AN I T 0.002 0.003 0.001 0.003 0.003 0.004 0.004 0.002 0.002 0.001 0.001 0.001 0.001 0.001[0.04ppmEL FCHY, 5>
(b)) CH M Hm)| FE 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001| 1A% 0.1ppmEA FC
ity B TN B RO DO/ E R R A 0.004 0.003 0.001 0.006 0.004 0.004 0.005 0.003 0.003 0.002 0.002 0.002 0.002 0.002|# %=
(B k) (% % By )| FEHIE 0.002 0.002 0.001 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
OB E b RS R R 0.002 0.002 0.001 0.004 0.002 0.003 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.001
(b)) (H *ﬁ ml RIEET 0.001 0.001 0.000 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001

(2 = m b 2 F (47 : ppm)
ST AH 6H17TH| 6HI8H| 6H19H| 6H20H| 6H21H| 6H22H| 6H23H| 12H9H|12H10H| 12H11H| 12H12H| 12H13H| 12H14H| 12H15H o O %
SFURT T S 0 5 = 0

SEAfiE
(R L) (A D SEEE 0.007 0.011 0.007 0.004 0.005 0.006 0.007 0.022 0.027 0.014 0.008 0.010 0.015 0.019
SIS ST RS B S S R
fg Tf( 24 *:T/ﬁiﬁ SEHE 0.006 0.010 0.005 0.003 0.003 0.005 0.006 0.021 0.028 0.014 0.008 0.009 0.015 0.019 | | pp oD B EHIEA
P Wb = O A R 0.04ppm7>50.06ppmET
S N
(H L) (T A S 0.010 0.015 0.008 0.007 0.006 0.010 0.011 0.017 0.024 0.012 0.009 0.008 0.012 0.016 PV NI LT
} Y F [PINES s} >
(”"f ﬁ) ";T; B;I W&) SEHE 0.008 0.013 0.006 0.003 0.004 0.007 0.008 0.018 0.026 0.013 0.008 0.009 0.014 0.017 | THDHIL
o T BN T
LA fE y
(M L) (H A A SEEE 0.009 0.010 0.007 0.005 0.005 0.007 0.008 0.019 0.025 0.013 0.014 0.011 0.020 0.019

(3) # E R + K HE (BAL © mg/m?)
ST AR 6H17TH| 6H18H| 6H19H| 6H20H| 6H21H| 6H22H| 6H23H| 12H9H|12H108| 12A11H| 12A12H| 12H13E| 12H14H| 12A15H RO O % E
PIF TSRS = 2] i 0.041 0.046 0.042 0.041 0.027 0.041 0.035 0.040 0.084 0.054 0.020 0.031 0.024 0.039
(B b)) (¥ #mw)|[ FHE 0.030 0.031 0.020 0.017 0.018 0.022 0.023 0.021 0.042 0.020 0.012 0.021 0.018 0.024
BRSNS MR ] R 0.037 0.040 0.023 0.026 0.024 0.032 0.033 0.042 0.079 0.060 0.019 0.040 0.031 0.042 ; .
(B b)) (¥ mw)|[ FHE 0.026 0.027 0.015 0.014 0.015 0.019 0.023 0.025 0.043 0.019 0.011 0.023 0.019 0.028 15#%@?1 H P fiE 7
FA T B S O A H| i 0.038 0.044 0.026 0.022 0.023 0.031 0.030 0.079 0.085 0.053 0.022 0.038 0.027 0.044 |0.10mg/m’ LA R THY . 2>
(e 1) (34t ) Pl 0.026 0.027 0.015 0.014 0.014 0.016 0.021 0.025 0.043 0.019 0.010 0.022 0.019 0.025 | - | i [ £30.20me/m> B
St BT S i BEE T/ R d e 0.038 0.039 0.031 0.029 0.032 0.035 0.035 0.049 0.078 0.060 0.020 0.036 0.028 0.015 | s, 7 - L
(B 1) Canosiwy ) FHE 0.030 0.030 0.018 0.020 0.021 0.022 0.027 0.025 0.045 0.021 0.012 0.022 0.019 0.027
GioREOWT W £ R A W] g 0.037 0.042 0.026 0.023 0.026 0.031 0.034 0.045 0.088 0.052 0.022 0.034 0.029 0.045
(e k) o gonr py )| SEHE 0.027 0.028 0.015 0.014 0.016 0.018 0.023 0.024 0.045 0.019 0.013 0.022 0.019 0.028

4) B\ b Kk F (WA7 : ppm)
ST AR 6H17TH| 6H18H| 6H19H| 6H20H| 6H21H| 6H22H| 6H23H| 12H9H|12H108| 12A11H| 12A12H| 12H13E| 12H14H| 12A15H H =R T
P ﬂ R = e e 0.001 <0.001 <0.001 0.001 0.002 <0.001 0.002 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(B 1) (P AN

A N
BRI LR A 5 B e <0.001 <0.001 <0.001 <0.001 <0.001 0.002 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(B 1) (P Al A
mﬁmw:azxo A B

e

(i E) (3 H P e <0.001 <0.001 <0.001 <0.001 0.002 <0.001 0.002 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.02
B fl i N R
(r; mi‘;f‘ﬁij’ ;ﬂ*j e <0.001 <0.001 0.002 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.001 <0.001 <0.001 <0.001 <0.001
i BHONT B - 0
i ) A B e <0.001 0.001 <0.001 <0.001 0.001 0.002 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(M b)) (Fe RE T )




(1) — & 1t i & (47 : ppm)
HH e s s (R )RR R TH8 05 H) B MW
PRIGS T 1H27H| 1H28H| 1H29H| 1H30H| 1H31H 2H1H 2H2H| 2H24H| 2H25H| 2H26H| 2H27H| 2H28H| 2H29H 3H1H -
T T A = TP Il 0.003 0.003 0.001 0.001 0.002 0.001 0.004 0.003 0.003 0.005 0.007 0.006 0.004 0.003
(B L) gt v PR 0.002 0.002 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.003 0.003 0.002 0.002
S B b K| IR 0.003 0.005 0.002 0.001 0.003 0.001 0.002 0.003 0.005 0.003 0.004 0.004 0.004 0.002] R
R B) (At [ PiE 0.002 0.002 0.001 0.001 0.002 0.001 0.001 0.002 0.002 0.002 0.002 0.003 0.002 0.001] 1FFMEIMEDL B FEAS
TH G b= O AW kBl 0.003 0.004 0.002 0.001 0.003 0.001 0.002 0.003 0.003 0.004 0.003 0.004 0.002 0.003]0.04ppmEL FTHY | 730
(L) gt m)[ PR 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.001 0.002| L F#[EfE 723 0. 1ppmEL FC
i T 3w R 0 0/ R Ik el 0.004 0.005 0.002 0.001 0.003 0.001 0.003 0.003 0.003 0.003 0.005 0.005 0.004 0.002 %5 k.
(B L) iy p)[ PR 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.001
WM @ T R A H| kel 0.002 0.002 0.000 0.000 0.002 0.001 0.002 0.001 0.002 0.002 0.003 0.003 0.003 0.002
(L) Gy p) [ PR 0.001 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
(2 Z &% b & # (47 : ppm)
HA PEAi a2 s (R )RR R T 58 05 H) BB MM
PRIGS T 1H27H| 1H28H| 1H29H| 1H30H| 1H31H 2H1H 2H2H| 2H24H| 2H25H| 2H26H| 2H27H| 2H28H| 2H29H 3H1H -
PRSP = k]
R T I [ 0.014 0.015 0.019 0.010 0.008 0.016 0.012 0.008 0.011 0.013 0.010 0.008 0.015 0.007
ﬂﬁﬁﬁ%%\%& — A R
Cm L) (ot v TR 0.017 0.017 0.020 0.010 0.007 0.016 0.010 0.008 0.012 0.015 0.011 0.008 0.014 0.005 lﬂ#ﬁﬂﬁﬁ@éﬁvwﬁg)
PR 0.04ppm7>50.06ppmET
VI fiE . . . . . . . . . . . B N
Ci L) (o g vy TR 0.011 0.011 0.012 0.005 0.005 0.013 0.010 0.007 0.011 0.013 0.010 0.009 0.015 0.006] 5 . 2L T
FERIMT q N3 Y -
LT ST R RS2 0.012 0.014 0.015 0.008 0.008 0.013 0.011 0.008 0.012 0.015 0.015 0.014 0.018 0.009| CHDHTL,
(B L) AT i)
Wom W w LA W
S e . . P e e . .
Ci L) p vy T 0.022 0.020 0.027 0.017 0.012 0.023 0.019 0.010 0.019 0.022 0.018 0.016 0.025 0.014
(3) # ¥ B + WK ¥ & (Bf7 . mg/m®)
PRBUS T 1H27H| 1H28H 1H29H IHBOH IHSIH 2H1H 2H2H| 2H24H| 2H25H ZHZGH 2H27H ZJEJZSH 2H29H 3H1H
TR SLP N5 = 2] JRmi 0.021 0.026 0.051 0.026 0.023 0.037 0.027 0.032 0.021 0.020 0.033 0.032 0.037 0.016
(B L) CHMdr)[ TPHE 0.013 0.014 0.023 0.014 0.014 0.018 0.011 0.016 0.014 0.013 0.019 0.023 0.018 0.010
B S A TN ! 0.023 0.022 0.065 0.032 0.025 0.047 0.040 0.042 0.030 0.019 0.040 0.032 0.042 0.013] ... - .
(B L) CRMd v PHE 0.013 0.014 0.025 0.016 0.016 0.022 0.012 0.016 0.017 0.012 0.019 0.025 0.021 0.008 15#'55@?1 H P fE S
WA WL bSO A H IEmis 0.019 0.029 0.042 0.019 0.021 0.033 0.021 0.031 0.023 0.021 0.030 0.033 0.036 0.014|0.10mg/m’LL FCdhh A
() CR ) TP 0.012 0.015 0.020 0.011 0.013 0.017 0.010 0.015 0.013 0.011 0.019 0.024 0.018 0.009 |-~ 1 F s f30. 20me /m° L,
T T ST 0 2 O/ R IR 0.023 0.027 0.061 0.028 0.023 0.050 0.027 0.039 0.026 0.023 0.037 0.032 0.043 0,013 ] Fcip 7 &
(B b)) Ctior s PHIE 0.014 0.017 0.027 0.016 0.015 0.022 0.011 0.018 0.017 0.013 0.021 0.023 0.020 0.009 °
T W @ T A H| s 0.020 0.034 0.046 0.021 0.027 0.037 0.022 0.032 0.019 0.024 0.037 0.032 0.032 0.015
(i ) Ca ooy p)[ PR 0.013 0.017 0.022 0.011 0.014 0.016 0.012 0.015 0.012 0.013 0.020 0.024 0.017 0.009
4) # b Kk F (A7 : ppm)
AR BEAI s 2P s (E I I ER R T35 (20F H) T
PRBUS T 1H27H| 1H28H| 1H29H| 1H30H| 1H31H 2H1H 2H2H| 2H24H| 2H25H| 2H26H| 2H27H| 2H28H| 2H29H 3H1H - -
HRTTSLATRIR = 2R o 0.001 <0.001 <0.001 0.002 <0.001 €0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(B E) (K i)
HRE LR R SRR e <0.001 0.002 <0.001 0.003 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(B L) CHAHA)
T R A N
L <0.001 <0.001 0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.02
() CH A H A
b W] 37 F Fl N5 e
(”"f ﬁ) ";i e mjl W&) M <0.001 <0.001 <0.001 <0.001 €0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
T R T N |
e M <0.001 <0.001 <0.001 <0.001 0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
(He £ (B B8 mr )

X1 TBERNf AR AP is 1k AR ) SER288E 1 H25 A ~2H TH
X2 [JERIURRIUR TH% 1 5P ) Eai284E2 A 19 A ~3H 29 A




O REBEEFTOHEERIZONT(HZE)
A F L DN TG R

=
]

N pg-TEQ/m’

0.6
~O— PR SEIR 45 = HE4E: 0.6pg TEQ/mLL T
0.5
O AT ST RN y
O P TS OAR 0
ati URAT TR I
=T flNT '+ LA 0.1
0o Q_*‘QAF —e o —r—8—%
0o T BN TH% SpfEikp] T
B kAR k254 k264 ER2TAE k28
641 125 641 125 641 125 1] 3)] 641 125 1] 2A
REES M ERVAERE R SRe ke o2 I =l s <o) W E B 0.026 0.011 0.031 0.051 0.015 0.020 0.019 0.0073 0.0089 0.033 0.032 0.039
DRIV S S FRVAR /A NV = 3 B = il b <0o) W E B 0.031 0.0081 0.045 0.030 0.014 0.016 0.027 0.0071 0.0098 0.032 0.015 0.016
PR S B S O AR e W E B 0.026 0.011 0.028 0.029 0.014 0.015 0.015 0.0087 0.0093 0.032 0.031 0.034
G BEET ST SRS DN R kT W E B 0.030 0.014 0.031 0.067 0.015 0.022 0.026 0.010 0.0092 0.036 0.018 0.035
B FEOET B L R4 B Hhboxe W E B 0.032 0.0079 0.031 0.053 0.017 0.019 0.014 0.0088 0.0095 0.037 0.045 0.035
M REMIZRHIERE BT ST, T4 A2 o s BRI I 2 DR 20,
W B O RIE RS SR (LR O B =i fil) o
7 ppm
O 1R D e i
O AT ST = s RRERBTFEUEN - 1IRFfHIE23, 0. 1ppm A T
0.080
O AT ST RN
L 0.060
O P S O A
—o- sy T ERE I ey | 0010
=S RHIT 5 £ R AR 0.020
— % ——p——}
0.000 <o
Hon T itk g THf% e
WS PR 244 PR 254 PR 264 “PIR2TAE PR 284
6H 121 6 H 121 6H 121 1A 34 6H 121 14 2H
PR TN PIR S = ke B s S fE %2 0.001 0.002 0.005 0.003 0.008 0.002 0.004 0.002 0.004 0.003 0.004 0.007
PR S ERVAR /A7 NV NS = i I == S} Foe i fiE 0.009 0.002 0.005 0.003 0.002 0.004 0.004 0.002 0.004 0.003 0.005 0.005
PAH LD SO R Hh_1-3%6 Foe i fiE 0.001 0.002 0.002 0.003 0.001 0.002 0.003 0.001 0.004 0.002 0.004 0.004
T BEET ST S B EE D/ VPR | & sk o B fiE 0.001 0.001 0.011 0.004 0.008 0.008 0.002 0.003 0.006 0.003 0.005 0.005
B FHOET B L R4 B b boke I 0.001 0.001 0.005 0.002 0.001 0.001 0.002 0.004 0.004 0.002 0.002 0.003




B AR ORERR (1 H OFE)E)

A7 : ppm
o & 1 H DT
- BRI RS = e
0.080
O SR TR bR R
N 0.060
- S E UK
~o-sipEnr R R 00107 \
e e (E: 1 SE#IE, 0.04ppm L T
——FBENT - LA 0.020
0.000 — @ o o—¢ O—0—¢ o —0— 06 |
0o T BN TH% SpfEikp] T
B TR RIS TR TERTAE RIS
6/] 121 6/] 121 6/] 121 1A 3 6/] 121 1A 27
PR TN PR = AR R %5 SRS 0.001 0.000 0.002 0.001 0.002 0.000 0.002 0.001 0.002 0.001 0.002 0.003
DRI S CRVAR /A NV N 23 v B == St 0) RES](: 0.002 0.001 0.002 0.001 0.000 0.001 0.002 0.000 0.002 0.001 0.002 0.003
DR G VAR =S O N7/ 5] Il St 4) S 0.000 0.000 <0.001 <0.001 0.001 0.001 0.001 0.000 0.002 0.001 0.002 0.002
BRI T E B AR DU/ N | R kT S 0.000 0.000 0.003 0.001 0.002 0.002 0.001 0.001 0.003 0.001 0.002 0.002
i oFEORT E b RO E| e S 0.000 0.000 0.002 <0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001

B R EFOREH R (18 OYH5H) e
AL ppm

O 1HOFHMHE

SIS ke < 351 A = 2k . .
O LA KABRILIEAE: 1 A A0S,
‘ : 0.04~0.06ppmETHY — P XU, ZAULF
- R AL R
0= PINHLHSOAR
——
- —e
- BT SRR %% $|
=0 5 FEIT 7+ LA
0.000
5 on TR B L% B
—— TR TR TG TR TR
64 12H 64 12H 64 12H 1A 34 6H 12H ;| 2A
PIMNH PN B = e B %S | TS 0.017 0.033 0.017 0.022 0.012 0.027 0.023 0.020 0.011 0.027 0.019 0.015
PR T SE R AR R B EXS S fiE 0.020 0.031 0.015 0.023 0.014 0.024 0.022 0.022 0.010 0.028 0.020 0.015
PA LSO N HhE3%6 S fiE 0.018 0.028 0.015 0.023 0.014 0.024 0.022 0.017 0.015 0.024 0.013 0.015
T FENT SERRREES DU/ AR R KT S fiE 0.024 0.029 0.020 0.027 0.015 0.026 0.025 0.018 0.013 0.026 0.015 0.018
i BEOMT B b RO %6 T 0.024 0.035 0.023 0.033 0.016 0.027 0.023 0.022 0.010 0.025 0.027 0.025




W R IR OO B E A S (LRE [ 0D fee D)

<& 1RFR O f

B :mg/m’

= R T S = ks RER BT UEAA : 1RFRIMEAS, 0.20mg/m3LL
O PR LA bR N 0.150
S8k Nz VA
0 BT S O 00 | O e
O S RENT SLERRE A DUk .’7 ﬁ
0.050 ‘7/
—O— S T B LR
0.000
0o T BN TH% SpfEikp] T
5 SRk 24 SERk25E SERk264FE SER2THE SERk28E
61 128 61 128 61 128 1A 3/ 61 128 1A 21
PR TN PR = AR R %5 fe %2 0.117 0.077 0.077 0.025 0.071 0.071 0.064 0.046 0.046 0.084 0.051 0.037
DRIV S S FRVAR /A NV = 3 B =l o <0o) Je i fiE 0.045 0.076 0.077 0.027 0.063 0.058 0.062 0.045 0.040 0.079 0.065 0.042
DR G VAR =S O N7/ 5| Nl St 4) T fiE 0.081 0.090 0.075 0.025 0.065 0.061 0.057 0.028 0.044 0.085 0.042 0.036
BRI ST B AR DU/ N | R BT T fiE 0.104 0.086 0.087 0.035 0.071 0.063 0.064 0.052 0.039 0.078 0.061 0.043
Bi oFEORT E b RS E| e T fiE 0.069 0.101 0.076 0.034 0.067 0.062 0.060 0.031 0.042 0.088 0.046 0.037

W PR IRYE ORIE RS (1 H OF2iE)

O 1HOFHE

BA7 :mg/m?

0.200
O PR TSIIR S = e
- PIAF Tt SLAM R 0-150
_._\\ Susshva -O\/\
PR IS DAL 0,100+
" e o . 0.10mg/m*LL
—O— T ST FR R I A
0.050
= N REINT &+ LA V»WA °
0.000
Hon TR Atk ] Tk B
£ W 5 P P24 FRk25 4 P64 TRR2TAE TR
6H 121 6H 124 6H 124 14 3H 6H 124 1A 2H
DER S ERVARE S S ke 5] I i b 05 S S 0.034 0.039 0.046 0.012 0.046 0.038 0.033 0.021 0.031 0.042 0.023 0.023
DRI A FERVAR /A N N v B = 3 > 051 SEfiE 0.023 0.036 0.045 0.010 0.045 0.034 0.029 0.022 0.027 0.043 0.025 0.025
PIA S H SO R Hi 36 SEfiE 0.037 0.033 0.041 0.012 0.045 0.036 0.031 0.016 0.027 0.043 0.020 0.024
B BEAT NLEGRE SR DU/ N R BT SEfiE 0.037 0.038 0.048 0.015 0.047 0.039 0.034 0.027 0.030 0.045 0.027 0.023
B BE AT ® b RO Hh 1-3%6 S 0.038 0.044 0.044 0.014 0.046 0.039 0.032 0.021 0.028 0.045 0.022 0.024




W AR SEOHNERS R (R IR o fie AAiE)

< B AR T OO E

A7 : ppm

0.020
~O- IR IIR = dredk B BB EE {1 0.02ppmEL T
~O- P T SR 0.015
Sk NG VA
=PI EHSOALR 0.010
i gl LINVA e AUV i
0.005 LA
= ST S ’ —_ ,
0.000 — $ =y |
0o T BN TH% SpfEikp] T
5 Pk SFpk254 k264 PR TAE k284
6/ 124 6/ 124 6/ 124 ] 35 6/ 124 1/ 2/
REES M ERVAERE R SRe ke o2 I =l s <o) HEfE 4 0.002 0.008 0.002 0.002 0.001 0.002 0.001 <0.001 0.002 <0.001 0.002 <0.001
SRE T ST RS bR N R R S W E B 0.003 0.006 0.002 0.001 <0.001 0.001 0.001 0.001 0.002 <0.001 0.003 <0.001
P S B S O AR e W E B 0.004 0.008 0.002 0.001 0.002 <0.001 0.001 <0.001 0.002 <0.001 0.001 <0.001
G BEMT ST SRS DN R kT W E B 0.004 0.004 0.002 0.002 0.002 0.003 0.001 0.001 0.002 0.001 <0.001 <0.001
B FEOET B L R4 B b bxe W E B 0.004 0.008 0.002 0.002 0.003 <0.001 0.001 0.001 0.002 <0.001 0.001 <0.001

1 AIEHROAE T SR 23R EE DRI e S L O
X2 memfElE, IR DR KO TY, 72,

SR RRRENT S L A ARICATE L CREL TVET,
FRRSUCOD BT, JIE IR B0 D LIFRIE O R R OEZ R AL TOET,

K3 OPMELIT L RIZB I PO T, 2k, FElSITOLEEE, BIEMR P21 51 B FAMEO R KOMEEFAL TOET,
¥4 PEHHTIZB I RROMEEFRALTOES,

%5 1 EABKI15.0mE2R>TOVET,
%6 M EASKI1.5mele o TVET,
T M BB AmEZR>TOET,

X8 [P I L3, BEANF R TR IEL CUOD IR C,
X9 TTHt% ) LT, M IRRAM T R T (WE A NBAZR O 1) W ER SN oM T,



O RREBFHOHERR, HFLAFOLBRIZONT(ZS)

B B bR OMER R (E %) AL ppm B B bR OMER R (4 F) AL ppm
0.100 O 1R O i fiE 0.100 = <& RF D fe =il
=PI LA 5 = oA KA BRETHLUEE  1RFRIE 23, 0. 1ppmEA F =PI T SEPIRT 5 = oA KA BREEFLMEAE  1RFR 23, 0. 1ppmEA R
O P I SLANIR N AR O P NLAAIR VAR
== PRI ORE == PRI ORE
—O—Fi REMT SLHRE S IU /AR —O—Fi M L HRE S DU/ N
=5 BT & L LA =5 BT & L LA
AE(E : 1 F SIS, 0.04ppm A AEAE: 1 B S 3, 0.04ppm L
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